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Fungi imperfecti (Deuteromycetes) lacks
(A) Hyphae '
(B)  Spores
(C)  Asexual reproduction
\M Sexual reproduction

4w Crrenwd_Hseafler 2 arer Ly @renaudey (Fungi imperfecti) Qg sreariu@eug) Geama
(A)  eapur ' '

B) Guriser

(C) urder@eQumssid

D) ume QarQumEsLD

Which one of the following is a heterocious fungus?

(A) Taphrina W Puccinia
(C) Saproleginia (D) Agaricus

Spsar_meusafler g @@a‘ﬂg edlmhsatiuuersmery e uGursLuBSS wGurisamer 2 HuUSH

@b L EHreng?
(A)  urlOfenr : (B) us&faflwur
(C) sTLICTml Slaflwm D) ssrisen

Which of the following is correctly matched?

(A) Monospore —  Polysiphonia
\ﬁy" Neutraispore — Bangia

(C) Carpospore - Batrachospermum

(D) Tetraspores - Sargassum

&Gy QarésuulLaeusafie erg) sflwres QummbSuererg?

(A)  CuCenrmrevGuimt — umellenseGumeflwim
B)  HuylgwaCurt - umeguwim
(©) smQureoCui — ul_rCar@Quirow
D) QL CprevCunmi — FN&TFLD
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4. The branching of the stem in seloginella

W " Dichotomous

(B) Vertical
(C) Horizontal
(D) Monopodial

saorgafoer gamBaafiar feaemumeang
A @rerLrs Ofbss

B) GCesagssrag

(C) soywlLrag

(D) pHepus aeTipEg

5. Azolla is associated with o
W Anabaena (B) Spirulina
(C) Nostoc (D) Rivularia

<G eremm Freurd QEaIL e QenawTbgl STeRTUILREDS.
(A)  semmlenm (B) evenumedamT
(C) mrevLns D) MeyCaflwm

6. Which one of the following is an epiphytic fern?
(A) Botrychium
(B) Cyathea

W Pleopeltis

(D) Pteridium

Epaam_eneusener creneu QeuaflyplQuiyefl @w?
A) CGurlgssw

B) swursgHur
©) YGEOCwrLQLMav
D) Quflgwwb
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Bryophytes differ from pteridophytes in the absence of
(A)  Multicellular archegonia

(B) Ciliated antherozoids

(C) Alternation of generations

\J#” Vascular bundle

@& @oaremowurd GarGuraul fser ALACLreauBHaafld GmHs CapguBdpg
(A) Heopu Qedsmer Qaram. 2 T&&Caraflum

(B) SAwurssmer Qsrearr bsCTTHUMIBSET

(C) e&pgd wrHOL

D) eaumav@GrT SHEDDEET

Which pteridophyte is called horsetail?

W Equisetum

(B) Lycopodium
(C) Selaginella
(D) Ophioglossum

abs QUAGL UL graunid GHenreune aren DienpésluBADSI?
(A) m&eflediLLd

(B) e@a&GarGumgwibd

(C) OQsergQarwer

D) @ 9Curdlermaid

The aquatic fern which is used as biofertilizer in paddy cultivation
(A) Selaginella

(B) Salvenia

(C) Pteris

\M Azolla

Qe 2 puslulle Epsam B Qupafl 2. 2 mors LwaLREDS)
(A) Gswn@@msbmrr

(B) smeveliaflwm

(C) QuAav

D) =CGsrevrerm
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10.  The outline of the cross section of needle of Pinus monophylla is circular because of
(A) two needles
W single needle
(C)  three needles
(D) four needles

emuenay GorGenmieoean graurgslan eadluifamauier Gnss Qe Carmmb eul Liors sraruUB &g
gQemermmed

(A  @ren® eafll¥@maw Qublmsdns
B)  emeadl@amwemu Qupdmedns

©) ey cafll@emau QupBHéSns
D)  preng cafl@ewaanw QubdmeHns

11. In pinus, the ovuliferous scale is a part of
W Megasporophyll
(B)  Microsporophyll
(C)  Microspore
(D)  Microsporangium

auaedley srariLBW @ellellQuiet avCamrarg ergen @n UGSwWTELD.
(A) QuarevCurGrmie :

B)  @wsCrmevCurCrmSe

(C)  wsCrmevCumt

D)  e@wsGrmAuryerguib

12.  The female plants of cycas pectinata possess what type of sex chromosomes?
(A) XY chromosomes uﬂf XX chromosomes
(C)  YXX chromosomes (D) XXX chromosomes

@eGaev  Gusgernm Quar sTaursde  eTEuGUMSWLITET @eiCbumas  GCrrGurGambaar

srewT UL (et m est
A) XY gCrmGunGsmbaer (B) XX @CrrGurCanbadr
©) YXX gCrmCunGsmibser D) XXX @CrrCunCsmbaer
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13.

14.

15.

Which resin does not permit the blood to coagulate?

(A) Rosin

(D) Canada Balsam

Qusssms 2 ampwedlLmod sHEGW Yéler erg?

(A) Gprélen
(B) Gasmured
(C) ywur

(D) sewerLm uTSD

The word ‘Gymnosperm’ was used by Theophrastus in his book.
W Enquiry into plants

(B) Species plantarum

(C) Genera plantarum

(D) De-la-Botanica

BCarravQuitid erem curTdens, HCGurLFevLedlen 6ThS LSSHESTE LWaTUBHSSUULLSI?

@)  a@@snuf @an® Germen
B) SHev Gerewrmyd

(C) Qgaflyr Gerarmyd

D) y-er-Qur_reaflsr

The chief pollinators of our agri and horticultural crops are
(A)  Moths | (B) Beetles
(C) Butterflies \(D)’ Bees

Geuarrarr pmib Caml L uuliselld warHhss CaTémasE WPSTLns STye]
A) spgU L& B) euar®
(C) aueamemdglLss (D) Cseaf
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16.  Given are some examples of plants with Adventitious roots. Match them with the origin :
(a) Bryophyllum Calycinum 1. Node
(b) Saccharum officinarum 2 Leaves
(¢) Rosa centifolia 3. Stem
4

(d) Piper betel Lower end of stem cutting

A 2 4 3 1
B) 2 1 3 4
(C) 2 3 1 4
P27 2 3 4 1

Caupfl Carsmers Qarear_ Ao graugmsdar Qsr@asiul Deraar. oapen Ceur Cgrenpid

Q5Cs( AunBéss.

(a) WYerCum..Yedeid sredlflend 1 S

(b) &&sMID aé’aﬁidﬁlmmy& 2. Qeeser

(¢) Cprer QeangCumeSlwm 3. s

(d) euur§iLe 4 Qeul LUl L sewrig. e g LGS

(@) (b) (© (d)

(A) 2 4 3 1
B) 2 1 3 4
© 2 3 1 4
D) 2 3 4 1

7. In one of the following petiole is modified into spine
(A) clematis gouriana
W quisqualis malabaricum
(C) trapa bispinosa

(D) acacia moniliformis

SpssaTL @b STaursHd @amad &bl pererna rnuL [HeTearg)
(A)  deflomigen Aefluwmerm

B) @elev@euraien wauriésn

(C©) Cgmdur esuevenuGenmam

D) =5Csflwur Qurafled.Lumiblen
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18.

19.

20.

‘Apical’ dehiscence of anther is seen in many members of
(A) Malvaceae \V Solanaceae

(C) Brassicaceae (D) Fabaceae

gioner auflwns weHs srasmear QeualiCuOnsd @Hss GOHLLUSMSE &g ACHES Greurmsatie

arenruRS g
(A)  wroGeuad B) GsrerCGared
©) YyrélsCsed D) ~CuCuéd

One of the statement is not true with reference to ‘Pin eyed’ flowers of ‘Primula Vulgaris'.
(A) Long style

\(B/ Long stamens

(C) Small pollen grains
(D) Long stigmatic papillae

Spasar smpnsaie gearn Lflpar eudsarilon’sr ‘e g’ LésEps&EL QuITHHSTS
(A)  peromer @e s [ |

(B)  femonen waHes et

©C) serefle Pl warHSS e

(D)  Bawre urbons QaraTL @GR ply.

One of the following is not true with reference to anemophilous flower
(A) Large no. of pollen grains are produced
(B) Anthers are versatile

W Pollen grains are sticky

(D) Pollen grains are winged

Epasa smbmsafle) ey, SrHM epaLd BLEGLD WaTbes CarsmssE QuTmBSTS
A) s serelle LaHsssIET 2 HUSH LemmaTiLBEDE)

(B) QeurrgenL_e &IHSLD

C) @B sareno AaTarTL WETHSS SNET

D) @nsmssdr Qare_ WETHSS ST
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21.  ‘Obdiplostamanous’ condition is characteristic of Rutaceae. The exception is

(B) Ruta
(C) Citrus
(D) Aegle

‘UguGaraumoarad Bl mCLell gHubusdar Gambsun. oo @ifloo Shssam

sTeund gandle) srerrlbumeudldene

(A) SQusmym

(B)  emlim
(C)  SAilgev
D) géa

22.  Pitcher plant of non-insectivorous nature is
(A) nepenthes rhasiana
(B) utricularia stelaris
(C) drosera

\M dischidia rafflesiana

L8 o_awramTm @ (Heeus STeuLd
A)  Apluupgev sredlwmer
B) Y AECaflwr evigerha
(C) L Qomediym

D) gevedigum g QefleOwimanT



Match the following :

(a) Androphore 1. Capparis

(b) Gynandrophore 2. Passiflora

(¢) Gynaphore 3. ‘ Coriandrum
(d) Carpophore 4. Gynandropsis

() (b) (© (d

Aa) 2 1 4 3
B) 2 3 1 4
Nz 4 1 3
(D) 3 1 2 4
Qurmsgs :
(a) e _gCumi 1. sdurflev
(b) enserman _yGuimi 2. umevedle . Germym
(c) evsar. .Gum 3. QsrAlwuren g
(d) smrOCGurGumT - 4. evsprengrledien

(a) (b) (c) (d)

A 2 1 4 3
®B) 2 3 1 d
© 2 4 1 3
D) 3 1 2 4

11 FABTY
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24.  In one of the following the main plant body is root

W Podostemon

(B)  Utricularia
(C) Wolffia
(D) Tinospora

Epssa ganfle Geurr, greurgdler QumbLGHwrs sraruQundEns
(A)  GunCGLrevig ome

B) wylAgGafiwmr

(C) o d@uubGur

D) e CearrevCumnyr

25.  Which one of the following is not a Hook climber?

W Clematis gouriana

(B)  Artabotrys uncinatus
(C)  Bignonia unguiscati

(D) Bauhinia variegata

Spssermsuppie, gerble Garéd gn Qsmgsd sramiiuBouddaman?
(A)  Heflwriigev Qarflwmerr

B) @ Crurlfey SiemedlCrLev

©) YsCameflur sienGevs .

D) uradeflwr CaufGal_Lm

26.  The fertile bracts present in spikelet inforecence of poaceae members is known

(A) palea (B) ligule

(C)  stipel \,GB‘J' lemma

CurGuealdl GRwLusMss arins sraurmfisald srarl@GUL amusdal wEpsMuld o 6rer euanTe
Leug& Qedlaser

(A)  Cuelwm (B) &llsuye

(C) evenu@ue (D) Qevbior

FABTY 12 G



27. .Large, fleshy, boat shaped bracts that cover the inflorecence completely is known as

(A) involune of bracts (B) cupule
\9]’ spathe (D) epicalyx
sjerafle Quilw, smgliupmieTer, UL G eugelaambg Gwrss weEssflawub GRHHHSGL Legd
Qe @eucurn empdsiiBEng)
A)  alruyeugs Gsdle (B) LW
(©) @aCug (D) eru9Gsadsen
28. is the kind of fruit seen in Apiaceae.

(A) Septicidal capsule

@9’ Cremocarp

(C) Loculicidal capsule
(D) Septifragal capsule

auemswrar safl gulCuald @Hbusdd sramiGunéng.
(A)  Qelgedlied Cali@e

(B) &MNCGuwranil

(C) orsgdaiie Calige

D) GealgesYyrad Cali@e

29.  Assertion [A] : Homonym must be rejected.

Reason [R] : Specific epithet repeats generic epithet.
[A] is correct and [R] is the not correct explanation of [A]
(B) [A] is correct and [R] is the correct expla

(C)  [A] is not correct and [R] is false
(D) [A] is wrong and [R] is true

audlypssisd [A] @ ‘CaprGurfln’ aarug ByrafssiuL. Geuemrigw GuUw.
amyemrid [R] : Apdlergden Quwimd Cullargdler QUL @eTDTs 2 6TeTg).
A) [A] #fl [R] @isp@ sflwnar eflerésineen

(B) [A] &M [R] =i50@ sflwuran aflergswn

©  [Al saup wppd [R] seugy

D) [A] geum [R] &

& 13 FABTY
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30.  In a vascular bundle, if xylem vessels develop in a centripetal fashion, the xylem is likely to

be :
(A) centrach (B) endarch
(C)  mesarch \W exarch
are@ear spHapuild moliw Crrég wapulled ameabd @wni QFwser o (heurarmd, AUTHETS Sibs
EnFeILD
(A)  everl_pnis (B) eeawrLnTE
(C)  BSevevris (D) easevevriis
31. Inter fascicular cambium is a tissue.

(A) protoderm
(B) primary meristem

(C)  primordial meristem
\(Pf secondary meristem

spenm @enL& Cab b ' .
(A) yCrrCLr@uLimb

B) wsamemw QoG

(C) YGevguriigwe &GS s

D)  @ram b iesSs

32.  Lignin is absent in the cell wall of
(A) Xylem tracheae '
(B)  Sclerenchyma fibre
(C)  Sclerids

\Pf Collenchyma

e Gaavedled eflseafler @muLidaama.

(A) s yCréwr
B) avdeaflyarensid BT Qa6
©) avdefap@aer

(D) Csresnenswom

FABTY 14 ' 0



33.

34.

35.

The position of protoxylem in leaf is
(A) | Lateral W Adaxial
(C) Abaxial (D) Marginal
Aeauie yGrmCLmensaib flene :
(A) uss (B) oiLmsadlwe
(C) wursedlue (D) eSafliby
The type of vascular bundles seen in a monot root is
(A) Conjoint, Collateral, Closed
(B) Conjoint, Bicollateral, Closed
W Radial exarch xylem
(D) Radial Endarch Xylem
am dsfame Carseaild sramuuBb eurEDEGTT SHEDEET
(A)  srangmiearl, GarGaigre, gl euans
(B) srargmuear ., euGsnGagye, (g)lq;u.l uMa
(C) 7 THLYTSH MWD
(D) @y ereRILmiTé emaeid
Pick up the correct answer :
18 Heart wood is called alburnum.
2. Heart wood is very soft and dark in colour. ‘
3. Heart wood is a tracheary element filled with tannin, resin
4. Heart wood does not help in conductio'n of water
Aa 1,2 W 3.4
© 1,3 D) 2,4
gflwrer ufllamer Caire| Gas :
L @sw s_eular wH@AnTm QuwiT O@UTeTD.
2. @sw sl 108 Quenemwns, L GUETERTSSI60 2_eTaTg).
3. @sw sleL erenug Lraflar, Qreder Hepps 4 Craf sanpm
4. Qsw sanL B s1L_sgieug @dama
@ 1,2 B) 3,4
© 1,3 D) 2,4
15
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36. 1s common structural feature of both vessel elements and sieve tube
elements.

(A)  Presence of P - protein

(B)  Enucteate condition

(C)  Thick secondary walls
\M Pores on lateral walls

DEQLD G Cl&a HHID sHOL G dsdsaiic e drar Qung el @nHmIEnLD
(A)  P-yysib o.éreng)

B)  2lsmBowrs Haw

©C)  syss QramLmb Qe seur

D)  uss sairsaled gamarser

37.  Root system is poorly developed in

(A)  Mesophytes \M Hydrophytes
(C)  Xerophytes (D) Halophytes

Ceur AgTEUY Genpeurs auarihd) méEb.
(A)  SCGersemui’ (B) eanl Cymeeenuil_
© gCrmemu (D)  aprGem et

38.  Cuticle is secreted from
W~ Epidermis
(B) Endodermis
(C) Hypodermis
(D)  Phelloderm

8lujiq sene 158 DE).
(A) Qa6

(B) erem_GLr@ Lbleiv

C) @anGur@Libev

D) ~QuaCrAL b
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39.

40.

41.

A typical angiosperm embryo sac at maturity is

(&)

(B)
(©)

4 nucleate — 2 celled
4 nucleate — 4 celled

8 nucleate — 4 celled

\g}f 8 nucleate — 7 celled

2 epSCwmev Auirapsefler apHihs smiieanu Hlae

{ AN
Xy

(B)
(©)
D)

oo o e
[ 48

a 1 e BT T
¢;m@ ol ool

i~

4 2 L 5m - 4 Qedsar
8 o L& - 4 Qacvaar

8o L &m - 7 Qawsdr

Post fertilization product of egg 1s

(A)  Fruit (B) Seed

(C) Endosperm W Embryo
&(HEYMISDI&E, el DjemrL_LD 24,8 TG
(A) seaf (B) &g

©)  smap s D) &

In triple fusion of angiosperms the second male gamete fuses with

A)
B)

Antipodal cell and one synergid cell
Two antipodal cells

\(Bf Two polar cells

D)

GACLTRGLTpsaar apeloaraler CuTg, @ram b uem Gabl

Two synergid cells

o L et @) enentdlmg).

A)  eyamsCum_d Gsd whpib g Haniel Qae
B)  @rar® peorg Curd Qe

©  @rean® sices oL s

D)  @Qran(® Harrgd Qaasar

17 FABTY
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42.  When the nucellus cells form embryo sac, without undergoing meiosis it is called a

(A)  Parthenocarpy

W Apospory

(C) Polyembryony
(D) Incomptability_

@ame ugLy Bspeurod, Crmuwrs Hluybswaa Gsvsefldlmbs smUmu aetiaug @deumm
GILALLUEng?

@  uniGgCamsnia

B) =CumevGummfl

(C)  unmel erb@flwmedl

D) géusaurenwo

43.  In pollen grain, — is the larger nucleus.

(A) Sperm nucleus

\J»”~ Tube nucleus

(C)  Generative nucleus

(D)  Antipodal nucleus

W&THS GiGatle Quilu 2 & Garam._g).

Q)  @Cuib 2 L&

(B) @Gwmiolsm
(C) GgaGrgeu o &m
D) ey Cumé o &m

44.  After fertilization the ovary becomes

(A) Embryo ' (B) Seed
\(,@’ Fruit (D) Cotyledon
S(HeMISNI&HE; 6 @nenL <46 LTHEDS.

A)  s6 | (B) efleog
©C) saf (D) efsHene

FABTY 18 o



45.

46.

47.

The prokaryotic ribosomes are

(A) 50 S Ribosomes

NG 708 Ribosomes

(C) 90 S Ribosomes
(D) 80 S Ribosomes

HCprCaflwm g ACurCambyser
(A) 50 S ACuNCerwyser
(B) 70 S AGunGambyser
(C) 90 S AGuUCGsmbyger
(D) 80 S AGurCGsmbyaer

Which of the following temperature range is suitable for optimum growth of the mesophilic
bacteria? '

(A)  40°C — 60°C 7 25°C — 40°C
(©)  0°C—25°C - D) -0°C

&CY AasrRssiulHerareupdler CemAells urdefwr ueTrausn@ 2-abs Geuliuflae erg?
(A)  40°C -60°C (B) 25°C-40°C
(C) 0°C-25°C (D) -0°C

Fluid mosaic model of plasma membrane was proposed by
\\Q)” Singer and Nicolson (1972)

(B) Salton and Owen (1976)

(C) C. Nugeli and C. Cramer (1855)

(D)  Ghosh (1981)

Qermeviom seuelled STl o oLy@hull Qwrenesd cauigaud LHHl sadliieu.
A)  fmstwoobd flECarasea (1972)

(B) améLan wpmib geuer (1976)

(C) ABwse womid & &ymoir (1855)

(D) Gamev (1981) '
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48. A virus which infects bacterial cell
(A) . Mycophage

W Bacteriophage
(C) Cyanophage

(D) Prophage

UNSle NWRIS®ET HTEELD enaured @eieumm cgqam@aaauu@:ﬁmgﬂ
A)  eowlsrCugy

B) . ursefCurGug

©) swCanmCugy

D)  yGrGug

49. A short segments of trichomes in Cyanobacteria

W Hormagones

(B) Exospore
~(C)  Endospore
(D) Chlamydospore

swCanrursie flwredler 4 emyCambsafier aremriuBdlen SAdlw ger® uEHeE
(A)  aprrwCarenser

B) eraCGavmevCuimi

(C)"  erenCLmavCGumm

(D)  AemAC_mevGuimit

50.  Elements required intrace quantities for growth are called

W Micro nutrients

Macro nutrients
(C) Nano nutrients
(D) Nutrients

AlserCGou Gaenauiuw oar’ L FF&gIGsmaT @eucurn SiepsslarGnmd
(A)  ewasGrr Hluyr Muwen’ 6o
(B)  GuwsGrm Sy Awem’_ e
(C) CpGerr Byl Muwies av
D)  FuAwer e
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51.  Viruses that attacking the bacteria are

W Phaginae
(B) Phytophaginae
(C)  Zoophaginae
(D)  Mycophaginae
eneuyadlanmed UmElss LD Limdle fluwim
D)  JCugCar
(B) - aoul CLrGugCGar
C) @CugCar
(D) owlarCuglCar
52.  In Industrial microbiology most of the products comes from
(A)  Aerobic respiration

\V Anaerobic fermentation

(C)  Facultative anaerobic fermentation
(D)  Oxidation
maanudf Asrfberemaasaie 2 pusd Qelwiu®n Qurmlad @l mHg oL s8ng
A)  sedlayenr Qprdlsse
(B) sedsyamfldenr Qnrddsd
(C) i safimar wHMID STTL@ML pdmav[H QBTHSH0
D) sedaCarppid
53.  The enzyme which converts sucrose into glucose in molasses is

W Invertase
(B) Amylase
(C) Protease
(D) Peptidase
siésemT sflaysafler 2_arer &&@CTTED ppR&sapis@aT &EHEGCETE gpa&sanTs IHD 2 sad tprdl
A)  @eneurCGLev

| B) @wlaeav
©)  yGrmigCuwev
D) - QuukGLev
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54.

55.

56.

Which of the following are referred as macroelements for plants?

Wwq CHO ®) C,Zn, CO

(C) H, Mn, MO (D) H, Mn, O

CusCrmblu, Mwetrev eremuemen?
A CHO (B) C,Zn, CO
(C) H, Mn, MO ' (D) H, Mn, O

Nitrogenous bases present in the DNA are

(A) Adenine, Thiamine, Uracil, Guanine

(B) Adenine, Guanine, Cytosine, Uracil
M Adenine, Guanine, Cytosine, Thiamine
(D)  Adenine, Cytosine, Thiamine, Uracil

\g..6T6.6F 6Sleh SrerTUILIBID enBLCrmadlene «3iig LILeL Apeésan&aT
(A)  ugananen, swidler, wyréld, @erenener

(B)  sugemaner, Geunenerer, enagl_GLméler, uyyréled

©C)  ongamenen, @eurananean, el GLréler, guibler,

D)  sugemanen, ewal CLrélen, gwibler, uyréled

The cell wall of cornybacterium is rich in

(A) Citric acid

W Mycolic acid

(C)  Techoic acid
(D) Lactic acid

sriraflurgle flw Geosaufld sramiu@eug
A) A fs sufeod

B) owsrads lleow

C) QL&Csmuils =flaib

(D) orsgs Sllen
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58.

=~

Which is the first fungus described in literature?

(A)
(©)

Aspergillus
Penicillium

W Mushroom

(D) Rhizopus

Qasdlwgda wsen psailer eflauflsaiul L L ehms erg)?

(A)
(©)

SjevLiadlerenan
Quei fHadlwib

Match the following :

(B) smermen

D) epGamuev

(a) Temperature, pH and osmotic pressure 1. Psychrotrophs
(b) Cold loving microorganisms 2 Physiczﬂ condition for microbial growth
(¢) Heat loving microorganisms 3. Psychrophiles
(d) Microbes responsible for spoilage of 4. Thermophiles

food in refrigerator |

(a) (b) (c) (d)
@A) 1 2 3 4

W 2 3 4 1

©€ 2 3 1 4
D) 2 4 3 1
Quirm&a :
(a) Qeulublene, pH, Speviomiicd Si(pssL0 1. assCrm_CGpmi
(b) @afliéEdleaw eflmbLb piarayudi 2. meawayudfl cuery sngswomrear GLbblenea
(0 QawuBlevaenw eNmHbdLLD HiaTarud 3.  nssCrrenuicien
d) @efifersens Quigulie o drer 2 emreL 4.  QsrCGuwrenuean

QurmLser Qs HUCLITS sryemoTen Hiewrgiud

(a) (b) © (d)
A 1 2 3 4
B 2 3 4 1
C) 2 3 1 4
D 2 4 3 1
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59.  Which type of fermentation is accompanied by CO:z evolution?
W Alcoholic fermentation
(B) Lactic acid fermentation
(C)  Alcoholic and Lactic acid fermentation

(D)  Sugarcane molasses fermentation

a1hg auens Lpmdlssala CO2 QeasefluiLu@dng?
A) asanrals Qprsseo

B)  orsys sl Aprdssd

©) osapred LHDHID @TsLs Siflo QBT ése
(D)  smiby ssms Qprdssedla

60. Which is the end product of Glycolysis?
(A) Citric acid
(B) Dihydroxy acetone

W Pyruvic acid

(D)  2-phoglyceric acid

gleaeréamadletlen (pigefled 2 (maum@d @ummer erg)?
Q) A As babd

(B) oLemant gréed =dLCmer

C)  eumals sibleb

(D) 2-urevCundleflafs e

61.  The process of photophosphorylation was discovered by

(A)  Priestly (B) Calvin
W Arnon (D) Warburg

gaflurevurflsyerrd lapancus sy Sgeur wmr?

(A) YGflevied (B) snaeilen

C)  sitenman D)  euri@ui
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62.

63.

64.

Aeroponices is also called as
W Soilless cultivation of plants
(B)  Parthenocarpy
(C)  Vivipary
(D)  Phytotron

gCGrrGurefléen —en Goumy Gluwim

(A)  waraflévemned Srarmhi&Eer aIaTisse
B) urgdCarmamm

©€) efleNuCum

D) e Comymen

Minerals are absorbed in the form of
(A) Molecules

\W Tons

(C) Compounds
(D)  Mixtures

STHIESET 6ThS euensudled 2 M@epaiBEng?
(A)  passapser

B) waflsdr

(C)  Gsmmger

(D) saomeusar

Which of the following element is absorbed by plants from soil directly?
(A) carbon
(B) nitrogen

\LQ}’ boron

(D) hydrogen

&G QarRasuul_(Harer eThs STEmel Teuhiser aareantslmha CrfleanLwns o Herssng?
(A)  smiruen :
(B)  eoplyman
(C) CGumpmer
(D)  manrger
25 FABTY
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65.  Swelling of gums on being placed in moistened environment confirms to

(A) Diffusion

\$#~ Imbibition
(C) Endosmosis

(D) Exosmosis

rliugoren @pHlaauda Canbg elflaim g s 2 md Qaidng
A)  ureyse

B)  edrafisad

(C)  odrsauayBHureucd

(D)  Qeuefl Feugy® LFeued

66. The process of selective passage across a semi permeable membrane is
(A) Diffusion \jBf Osmosis
(C) Capillarity (D) Imbibition

DMTEELSF Feueunarg GOLGLL GQurmlsear 2 wHmd Geuefl gwdiug ereusummy

DW&EULHEMS?

(A)  ugeyse (B) seuay® ureue

©) CslGerflliy (D) o crefigge
67. What is the optimum temperature of most of the enzymes?

e 40°C —45°C
(B) 15°C-25°C
(C)  20°C-30°C
(D) 50°C — 65°C

Qugains ammgg Qs @nid Gaweau Bid Wswmen Geuliublane wimg)?
(A) 40°C -45°C

(B) 15°C-25°C

(C)  20°C-30°C

(D) 50°C - 65°C
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68.

69.

70.

Which of the Nitrogenous base is not occurred in RNA?
(A) Uracil
W Thymine
(C) Adenine
(D) Cytosine

<. cTe0n. 67 6lleh STETUILIL TS NBLTMENT S 6Tg)?
A) yCréle

(B) amsullen

(C)  <ugeenen

D) s’ CLnflen

Which one of the following is a fibrous protein?

\W Collagens

(B) Albumins
(C)  Glutelins

(D) Protamines

EC QAsrpasiul_Hdrarmesalle) BT LTs cuensemé STihss)?
(A)  GaraerGsmerey

B) @ ybler

©) GEpLmelane

D) yCrriLemwensar

Which of the following protein possess Quaternary structure?

W Haemoglobin (B) Histone

(C)  Globulin (D) Elastin

8G Aar@ssiiu’ L yrsmsaile geuriLianfl wewiiy QupmeTataes erg)?
(A)  abGwrgGerm Qe B) ablevClLmen
(C)  @Cermedle ' (D)  erevavig e
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71.  Which of the following is an immediate source of energy?

(A) Sucrose

W Glucose
(C) Fat
(D)  Starch

ECy QsrHésiulLamagaile) 2 Languins pname QsT(Ess sy g 6T5?
(A)  s&Cyred

B) @EssGsmen

(©)  Qsmiy

(D) evLmTFE

72. Starch is a polymer of

(A) Fructose ' W Glucose
(C) Sucrose (D) Maltose

GVLITITES GTeIg) eTEHenIenL (L UmedloFm@wn?
(A)  SlgaGmev (B) @epsCanen
(C)  &&Crmen (D)  wrGLmreav

73.  Which of the following polysaccharide is composed of £ - glycositic bonds?

(A)  Glycogen
(B) Dextrin
(C) Starch

W Cellulose

&G Gar®asliul_(Rerareumile erg) J ;élemmé;(ﬁa;nmsmq.é @ eventliL|Geners Glemar(hiereng)?
(A) sevarsCamevern |

(B) QLégevl Mer

(C)  evriés

(D) QgoayGevmrav
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76.

Electrical conductivity of saline soil is

(A) Less than 4.0 mmhos/cm

(B) Exactly 4.0 mmhos/cm

(C) Inbetween 3 to 4.0 mmhos/cm
W Greater than 4.0 mmhos/cm

WenaL g o UL weaanfléd 6Thg 2iemelln @ @ meEwD

(A) 4.0 mmhos/cmé@ @enneuns
(B) sfwrs 4.0 mmhos/cm
(C) 3 wpmid 4.0 mmhos/cm

(D) 4.0 mmhos/cmég @iflswns

Sandal wood is an example of

(A) Evergreen forest
W Deciduous forest

(C) Tropical forest

(D) Thorny forest

FHSET LDTEIGET GUET(HLD ST(HSENET GTEUGUMT) HEMLPSESEITLD

(A) u&ew LIPS ST(HEET
(B) @eawdi srBser
(C) Qeauu GyCse srHaser
D) .l srpHser

Ozone day is celebrated on
(A) Jan, 30

W September 16

(C) April 21
(D) December 25

@Canan fanbd erpg Brafle Aamemm_LiuGEpg
(A)  meraufl, 30

(B) Geirburlé

©) egure,21

(D) gebuLm 25

29
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77. +Which one of the following does not belong to quantitative characters?
(A)  Frequency '
(B)  Density
(C)  Abundance
W Phenology
g@é&sﬁaﬂ_mﬁ)g}sﬁ aremeu Geunaiiy CLig el e samer Qamea () &) mesng?
A)  Sigbsy srariLGeus)
B) <@L
O Vedurs sremriu@Beug
(D) damreg
78. Acid rain causes
(A)  Ozone depletion
W Demineralisation of soil
(C) Biogenic decomposition
(D)  Volcanic eruption
bl wenpullar aflenereysar
(A)  gCearer uLeb undlésliL{Hse
(B) Hosgda saflo cuermiseafler wrpmd ghuBSse
(C) uCwrBels fange ser
D)  eflweme Qe s
79.  Which one is ozone depleting substances from the following?
(A) Oxygen \Q-)’ Halons
(C)  Organic dye (D) Plastic

Spssam_eunmiear arenau pGarar UL asms CagliuBsgieug?
(A)  ysedlgen B) CanCGe e
C) prenefls e D) Qermevigs
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80.

81.

Consider the following statement

1. XX — female - XO male type
II. XX female - XY male type
III. XX female - XX male type

‘Which of the statement given above is/are correct?

(A) TandIII (B)  II only
\V ITand II (D) Ionly

ED&HETE@D UG BIEmeT seuef]

I. XX Quer - XO syem cuens |
II. XX Quesr - XY e cuens
III. XX Guegr - XX g6 euans

Gl @@u@r_a_ aursSunisafle erg &f?

@ 1w I L@ Meek
(@ Vg 11 ®) 1wiEb

An ecosystem consists of
(A) acommunity of organisms
(B) energy
(C) the soil and water
W biotic and abiotic components

@(r_r; GWDFlane aTL LD GTETLIg)

(A)  @meIu9lL 2 ulflamsdr

B)  pped

(C)  waw wHmD Bir

(D) 2@ wHyb 2wl SHN sTyerilseT

31
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82. Synapsis occur between
W The homologous chromosomes
(B) A male and female gamete
(C) mRNA and Ribosomes

(D)  Spindle fibres and centromeres

Slamilav ereimg) ersmHE @ent-Cu penL Glumid
Q)  @Qwess GCIGursmbsadr

B) @ @ wHmb Cuer STl

(C) mRNA wpmib engCurCamibaer

(D)  euilenge priser whmb Cear Crmdwiser

83. Consider the following statements

Assertion [A] Chloroplasts flatten in the light and become more spherical in the

dark
Reason [R] ; Changes appear to be mediated by ion fluxes across the membranes

w’ Both [A] and [R] are true and [R] is the correct explanation of [A]
(B)  Both [A] and [R] are true and [R] is not the correct explanation of [A]
(C) [A] is true but [R] is false
(D)  [A] is false but [R] is true

Epsramb aursSlwnisemer seuef

gamm [A] : ussaflsn geatlufld sl wnseb Gmaflad el Lorseyb wrmb
gryend [R] ¢ wrHmLD Feled e sﬁgﬁ]u_lrr& Swellser Gadeugrd gou®BSms,

(A)  [A] vpmd [R] &fl, Cuayd [R] erenuig) [A] eflhaner sflwrer eleréssnd

(B)  [A] wpmibd [R] @l yemméd [R] eremugy [A] eflpamen eflwnen eflarésid sicbe

©)  [A] #fl syammad [R] suy “

(D) [A] seumy oyemed [R] &l
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84.  Diagramatic representation of all chromosomes at metaphase is called
W Idiogram
(B) Cardiogram
(C) Karyotype
(D) Leotype

QL Lrhleaude 2 drer margg GCrmGLrGsmbaamenb euenyLL pennuilé sameugnaTern QT
A4) @uCurdlymb

(B) ammeCGurdlymbd

(C) sriCGumrenLL

(D) QOCwmenLL

85.  The best stage to observe the shape, size and number of chromosome in a cell is

(A) Prophase \‘{Br' Metaphase
(C) Anaphase (D) Telophase

Qecadler 2_erer GCrMGLrGambaaflen aligaub, Sate] LHMHID eramamilbamasn LTTUSDHE Smpg Hlane

A)  yCGyr'Cuev B) GCuiLmCuem
©) e .Guev D) e Cusv
86.  Crossing over occur in the stage of

\M Pachytene

(B) Leptotene
(C) Zygotene
(D) Diakinensis

&ni6Cs s556 e Gumb Hlee
(A) uresieen

(B) QeuCLmeer

(C) wsCameen

D) erwramsQerardlen

{ | 33 FABTY
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\d |

87.

88.

Life originated about 3.6 billion years ago in the

W Precambrian era

(B) Gambrian era
(C) Silurian era

(D) Mesozoic era

3.6 deallwer RS EFES W1 eThg FEMTISSE D 2 uWifand Carendluwig)
(A)  ACGsbLAOAWer

(B) Csbl@fwer

(C) SAeyflwer

D) SCsrGemuls

Darwin judged the fitness of a individual by
(A)  Ability to defend itaslf

(B) Strategy to obtain food

\'(Q’ Number of offspring

(D) Dominance over other individual

Lmirefilen $irliyuig Qur@sgioren saflpuir eremug)
(&) peren aflisei> Span

(B)  eame QupagpsTer 2 54

(O Qalumés eramenlsems

D) whp e wWiflsmer e erfullmuug
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89.

90.

Lamark theory of organic evolution is usually known as
(A) Natural selection

\J»” Inheritance of acquired characters
(C) Descent with éharge

(D) Continuity of germplasm

ewmiélen Cam_um g6 Sikuss Liflewrmo eueriadludle Quiwi
A)  Qumeas Csirey

(B) upbuenywred Qupliul L Ly

(C) eubsmeuaf THOD

D) epewayuilit Agm_r&s

The process by which different organisms evolve similar traits in nature is called

(A)  Genetic drift
(B)  Artificial selection

(C) Divergent evolution

\M Convergent evolution

Qupasiier QacuCeuy o ulfleniuser &8 LdmLEEsLar Liflamon Qumoibd Blapellear Guuwii

@A) wrugy spssd
(B) Qswpaera Cxitey
(C)  wryule uflewrmon

(D)  @&s uflewmobd

35
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Which one is used for knowing whether or not a population is evolving?
(A)  Degree of evolution
(B)  Genetic drift

(C)  Proportion between acquired variations
\M Hardy — Weinberg equation
20 2Wlyer Qgrews uflarmo eeriédl @ Apsr Godmawr aaL®mS ams me;.@g 2(Dbs|
Qarareug)
(A)  uflewiw eueriéfuden ieTey
(B) wruen spésw
(C) Quplul wrppsHer aﬁ]_eﬂng

D)  anrig - QeullenQuits swerrLm(®

Selective breeding of organisms for specific desirable characteristic example of

(A) Mutation

\M Artificial selection

(C) Reverse evolution

(D) Natural selection

Geamauu@w vamdpars e Wflesamg Coiray Aalig swlidend Qelieugspanar aRSsHsET.H
(A)  #mA wrHpd

(B) Qewpens Cgirey

(C) Qe ufewrmob

D) Quhems Cgirey
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93.

Consider the following pairs

I Morgan and castle —  Crossing over
II Darlington and Mather — Sex determination
IIT Double trisomics — 2n+l

Which of the pairs given above is / are correct?

W landIl

(B) Tandlll

(C) IlandIII

(D) Il only

1Seiau(Hid Geerraenet &MmSHo Qaers

I WTEeN WHHLD STVl igd — —  GNECE sOHH
II Lrreliien wHmib rSsT - uredler Sioremnd
III  @rie yearGsmblé -  2n+1

CopgAUualL Gamensaild egi/aameu &7
A Twopgo Il

B) ITwpgw III

(C) I wpgd III

D) 1w @b

37
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94, Which of the following is/are wrongly matched?

L

II.

I1I.

IV.

B)

(C)

@)

Chromosoﬁne - A structure in the cytoplasm that contains DNA
DNA —  The substance of which genes are made

Cell - The smallest hvﬁlg unit

Cloning - Process of producing non-identical cells

[and IV

IT and IIT

IIT and IV

Iand II

Sipsaameupmie arg) / ereveu sfwms QurmssILLefldama

IL.

III.

IV.

(A)

(B)

(©)

@)

FABTY

@CrmCunGemd —  aa’ CLm9emmesHearer DNAeau Qamam ianioliLy
DNA - LOJUEESMET 2 (Heurs@ELb GLimmer
(AF:2) - APlw 2 €97 G
& Germefl s - wrmuc L Qmamm 2_(HEUMEEGLD (LPenD
[ wpmw IV
IT whmn 11T
T whmb IV
I wpmyw IT
38



95.

Match the following :

(a) Supplementary factor
'(b) | Complementary factor
(c) Epistatis
(d) fnhibitory factor
(a) (b) (c)
A 1 2 3
B) 2 3 4
s 3 2
(D) 3 4 1
Qurmsgs
(a) glmenr Blens smyenfl
(b) amb9efiQuem_f sryent
(c) eréafuuréleiv
d) sO&EW sTyewf
(a) (b) (c) |
(A) 1 2 3
B) 2 3 4
(C‘) 4 3 2
- (D) 3 4 1

(d

(d

13:1

12:3:1

13:1

12:3:1

39
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96.

97.

98.

99.

‘Litmus paper’ is prepared from
(A) Algae (B) Fungi
\V Lichen (D) Bryophytes

‘@l oev et erflellBpg suTfssiuLGODS.
(A  unflser B) yeramssar

©) eoosasar (D) YerpGurenul Lréser

The attachment organs of foliose lichens are called
W Rhizines (B) Rhizinose strand
(C) Hapters (D) Holdfast

GumrallGuire enevsafler Lim Qamem@nid 2 miienu @eiaumy A P&SLLHE DS ?
(A)  congenev (B)  engelCenrr e Grrapm_
(C) Gapucr (D) Caré@ument_

In Lichens, the fungal partner mostly belongs to
(A) Oomycetes W Ascomycetes
(C) Deuteromycetes _ (D) Zygomycetes

@saenaatlen sl ( eumpailer Lgpemals LkisTel B GNema SMTHSE?
(A) ool _6v (B) =evCasmenndl v

©) U Crrewé s (D) eaeCarenwodl e

Which of the following is an edible fungus?
(A) Mucor (B) Verticillium
W Agaricus - (D) Fusarium

§Cyp darPésiiu’Hetarancusolleh erg) o aimanrdanq L LLEreng?
A)  Bwssr B) QeuigHaNwid
(C) ssrfssv D) yerflwibd
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100.

101.

102.

A Life-cycle, possesses one haploid and two diploid phases is called

\M Haplodiplobiontic

(B) Haplobiontic
(C)  Diplohaplontic
(D)  Diplontic

aurpsena spHEsudler m Gantiuermi@, Qe g liermi® Hlaewenw ereueur essiIuBHEng?
(A)  QanuGermig IGeTTLILImETIq &

(B) QanuGearmuwimenrig.d

©€) guCGemmQamieTTeiri.d

(D) wueTremy S

Diplobiontic life cycle is seen in

W Polysiphonia

(B) Chara
(C) Laminaria

(D)  Cladophora

@meurpadwe spnHd srariiLibHeus)
(A)  umlensGumeiluim

B) e

©) oomlemfwr

D) SemrGLmeCuimym

An antibiotic has been extracted from the species of

(A) Laminaria \J#” Chlorella
(C) Gelidium (D) Polysiphonia

DTG LTI & eTemD erdTALITmeT SpasarL sreursdHambg QupluGEng.
A  erdGermuwr (B) @Cermyeveom
C) Omeligwid (D)  urelensGuirailuim
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103. Club moss is the common name of

W Lycopodium

(B) . Pteris
(C) Selaginella
(D) Marsilia

slenu Ums) erertug) @gen QurguG@UWIT <@L
A) @asCarGumgwid

B) Qufev
(C) QeorgQarwen

(D) &Sl

104. The formation of protonema is observed in
(A) Marchantia
(B) Anthocerus

\\»” Sphagnum

(D) Riccia

LGyl CLraflor o (reunse @&l srewt (pigdlng.
(A) wrisaTSwr

(B)  <=ypCsrQsymen

(C) ewCGusend

(D) Asedlwr

105. The Young Gametophyte of moss is
(A) Capsule (B) Seta
(C) Zygote W Protonema

wredler @er CaLllGLmepuL eremug)
A) Gslge - (B) &lunm
(C) ameCami (D) yGyr_GLraflom
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106.

107.

108.

The first plants to appear after a forest fire are

(A)

Mosses

\.(Er Ferns

©
(D)

Angiosperms
All of the above

sT_M&6E gpul L GnE el Caremb sreud

(A)
(B)
(©)
@)

OGN GTETM LT ST
Quyenflaer
LEGLD STeUTRIGET

Cunandlu Sienarggd

Coralloid roots of cycas are

o

(B)
(€)
(D)

engsaedlar Leu Geursemmang) ecreucuans B mg Gunmiarers?

(A)
(B)
©)
(D)

Apogeotropic
Positive geotropic
Chemotropic
Phototropic

eréliT Lyell prL b
Grir el B L_1b
Ceudl prL b
eafl BrCL (D

In which geological period, the Indian type Williamsonia Sewardiana was described?

A)
B
(©)
(D)

Carboniferous period
Jurassic period
Devonian period

Silurian period

epg Lelullwe sragslda, @bdw euams eflawellubCarafluim feumiigwimer cuenyumnésiul L g?

A)
(B)
©)
(D)

srmurelQuren Sflwl
spopmdlé 1Sflw”

g Ceumaflwer SAw
Sgomilwsesr Shlua_
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109. The coralloid roots are found in

(A) pinus (B) gnetum

\V cycas (D) cupressus

veup Ceutrser erdled smamiLBEDS?
(A) eouemen (B) Siob

(C) emass6en (D) GLTevenan

110. In pinus, the seed coat is developed from

(A)  Owvuliferous scale
(B) Nucellus

W Integument

(D) Carpellary scale

enLieman gnmqgﬁsb elengmnuwirens eTélamhg 2 (heurdng?
A) gailadll@ugan svGad

B) HyQsaeaen

C) @enQLswyCwer

D)  arruef svGae

111. In cycas, the vegetative propagation is by means of
(A)  Coralloid roots

@ Bulbils

(C) Sorus
(D) Cones

@E&6-6 2L QU(mEsLTeaTg) ergen epeld henLCupdlmg)?
A)  uwey Ceurser ppeons

B) valdrser apaons

(©) CGamrev ppaors

(D)  sabyser ppens
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112. The whorl of Bracts seen in Helianthus annus 1s

(A) Epicalyx (B) Glumes
W Involucre (D) Spathe
afedlwmersen peraren Leld sramQumib eul L eulgeulonar Lallyd Qadager
(A) e9CsN&en (B) Sembev
(C) @emeugyai (D) wCus

113. Which one of the following is phylogenetic system of classification?
(A) Linnaeus
(B) Benthem and Hooker

@ Takhtajen

(D) A.L. de jussieu

EpsearLauiaeiies @meumew cuanaium® uflemro g liuea ulonear euamsiur(?
A)  elenCarwiev

(B) GQupsd pmib ap>&sir

(C)  LnméLggmen

(D)  g.erev. g Revyy,

114. Assertion [A] : Underground stem serves as an organ of perennation.
Reason [R] :  They contain stored food material axillary bud and terminal buds.
" [A] is correct and [R] is the correct explanation
(B)  [A] is correct and [R] is false
(C)  [A] is false and [R] is correct

(D)  [A] is correct [R] is not the correct explanation

gapm [A] : angswren Gpflaauid samrsp samBser G samhHieamar 2 (HeurdELD
smyawrd [R] . sy S san(saiie, Callss @eassliulL 2 aral, Caram Qurl® wHHID
miafl Qor’ Haer smevru b lemm e

Q)  [A] =iy &, [R] @isne sflurear eflengsn
B)  [A] mpy &, [R] seum

©€)  [Al wmpp seum [R] &l
(D)  [A] snm &l [R] 2450 @ #flwurer eflanésinea
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115. Amphiphloic siphonostele is found in
(A) Selaginella (B) Lycopodium
(C) Pteris \y Marsilea

DL Carmuilé enaLCanmavie ) srawTliLI(H g
(A)  QesargQerdsr ' (B) easCasrCumguid
(C) QuLfev (D) wrr&eSlwr

116.  One of the following is not true with reference to Accrescent calyx
(A)  Calyx is persistant
(B) Grows along with the fruit
(C) Seen attached to the fruit
W Solanum melangena is an example

D&l Taen qsbaS]l L gangl Hurpisseueny Spsaea ganile) ganm seum)
(A) Yyl eul b Hlaveowmang |

(B)  saflyLen Caipgy euermid

(O  safllyLéan grligs sremi@Qumpd

(D)  Qerarend QuaEsflam QsnE 2 sTrerTd

117. The Eyes of the potato are
(A) Root buds
(B)  Shoot buds

W Axillary buds

(D)  Flower buds

2 (menans Slpridle) sremriQUpID et LGS
(A)  Ceu Qum’_@Hsar

(B) sew(® Qur_{Hser

(C) Carewr Qurl_(Hser

(D) Y Qi @ser
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118. Fruit of Asteraceae is
(A) capsule (B) Dberry

W cypsela (D) pepo

e Gren @ {Hwugdla srariQumibn saf cums
A) Csuge (B) Qudf
(C) dlsen ' (D) QuuCur

119. One of the following is not the source of Textile fibre
(A) Gossipium arboreum

(B) Linum ustitatissimum

W Caryota urens

(D)  Musatextilis

Spsaan gm srainsdlmng sefl, aume Gmeaserssta Qs QupiuBeudame
(A)  sredQwib = CGurfwb

(B)  eaend wém fwob

C)  srflGumLm wlreneav

(D) bwer QLsevenLeilen

120. ‘Bilabiate’ corolla is characteristic of Lamiaceae. But it is seen one of the members of
Asteraceae.

(A) Vernonia
W Mutisia

(C) Lactuca

(D)  Eclipta

mHsH eugeu yeved @ eombCued @@ busdle Qumburib sramiQupding. e Spsaaor
e Gredl GHbusmsE enihs 2 mibenT el srariQumndns
(A) QeurCGenraflwm

B) wligdwur
(C) Cas@msr
D) esdiLT
e 47 FABTY
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121. Match the following :

(a) Dicliny 1. Flowers are of two types

(b) Dichogamy 2. Unisexual flowers

() Dimorphic 3.  Physical barrier for self pollination

(d) Herkogamy 4, Sex organs maturing at different times

@ ® © @

A -2 3 1 4
B) 2 1 4 3
©C) 2 4 3 1

N 4 1 3

Spésar_auneml QUImSS)s :

(a) eov_sHamera | 1.  @meumswirer Lj&s6r

(b) oL &CaCa - 2. @@H e DT&ET

() enLonms s 3.  LEIHSSINET, GigSoTeneud GaaTmaLcudled 2 L ass s

(d) QaniGarCsals 4. Qendumses 2 pliysear @mGaim sragdd updiss simLgo

(a) (b) (c) (d)

@A) 2 3 1 4
B) 2 1 4 3
€ 2 4 3 1
®) 2 4 | 1 3
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122. Materials travels from low to high concentration by permeases making the cell to expand
energy

(A) Transfermation

(B) Passive transport

MActive transport

(D) Translation

APQEHIAMSGET GEDPDHS &Lﬁaﬁ]aﬁl@ﬁ@ 2i8& SiLfieunen LESHsE Ceany Crwene QUlsTes 2 Feyb
DD

(A) grmereLTGLOF6

B) unedlé yyrenaGumiL

(C) <ydyeu grrenevGumt

(D) wyyrenevGeavgen

123. 'The name given to a taxon, which already has a name is called
(A) Homonym
W Superfluous name
(C) Basionym

(D) Tautonym

Qb ‘Lrdevrend@ eeanpid@ Copriul L QuwiT @mbsTd i)
(A)  CaprCGomlo
B)  GLUUFLEReusH G
C) CuaCurhlid
D) wrlomfln
e | 49 | | | FABTY
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124.  Caesalpiniaceae differ from Fabaceae and Mimosaceae in having

(A)
(B)

Monocarpellary ovary

Legume type of fruit

W Clawed petals

feavdefiCueall GHLUL Spssraud e uamisd GCuGual wpmb @wCorCsaluledHhs

(D)  Marginal placentation
Caimu@Bdng

(A).  am GdlaaF @Hosh

(B)  Qe@wwb eusns seil

(C)  smbyeLw 0 G)spaer

(D)

eflafliby @& U Hapenp

125. Match the following :

(a) Runner 1.
(b) Sucker 2.
(c) Stolen 3.
(d) Offset 4,
(@) (b (© (d)
(A) 4 2 1 3
W 4 1 2 3
< 4 3 2 1
D) 3 2 1 4
Epsaar_aunemml QUITmSEs :
(a) npewemi 1.
(b) s&&m 2.
(c) evCLmeven 3.
(d) e lGsl 4.
(a) (b) (c) (d)
A 4 2 1 3
B) 4 1 2 3
C) 4 3 2 1
D) 3 2 1 4

FABTY

Axillary bud below the soil grows into a branch

Axillary bud close to the soil grows and the axillary
branch grows vertically

Axillary bud close to the soil grows and the axillary
branch is short and thick

Axillary bud close to the soil grows and the axillary
branch grows horizontally

gengullen & o arer Camanr@om (5 Severwins eueridma

saoquolL sdlaerer  CaramGom gelmbg — eumbd  Sevar
Qeri@Ssns euartdlpg

seogolL sflaerar  CamemOwm gelmbs  aumn  S&TH.
SINSTER|LD Siq. 06T QUTLHSSHTEHELD 2 dTerng)

geny  wlLgdayarer  CamemrGon gd@mHg @b  sar®
dlen_olL_oms euaridlms
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126.

127.

128.

In vanda, the aerial roots does the function of
(A)  Absorption of water from rain

(B)  Conduction of water

(D)  Carbon assimilation

sumenTLmadley srewriCumb pamu Ceurger Glawiun Liemwfl

(A)  weywber 2 Mepsdng
(B)  fBenrs sLsmdlng

W~ Absorption of water from rain and carbon assimilation

(C)  wen Beny 2 Mgraeuger, gafdCeréansuyb Qawdng

(D) gafléCaisans Haldng

Multiple epidermis is present in

A)  LCyTCaDEGWID
B) yCrCLI@L b
©€)  QLACGLTmen
D)  SQuéGamsger

51

(A) Hibiscus (B) Allium
(C) Hydrilla VW7 Nerium
& L 2H&EG LDCHmeD 2_areng.

(A)  eanevaen B) o@alwbd
(C)  eaplMeéer ' (D)  FAlwwo
In Flowering plants, vascular tissue develop from
W Procambium
(B) Protoderm
(C) Dermatogen
- (D)  Phellogen
L &EGLD STeUThISer 6 6Ume) GeT SHenm eOl(HbG 2 (Heum@LD.
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129. Function of obturator for any ovular structure is to
(A) nourish ovule
(B) nourish pollen grains
\,ﬁ@( guide pollen tube towards the micropyle
(D)  keep the ovule alive

@eler ‘Ui uCrui uenfl

A) EeHE e L Sefliug

B)  warnHs snEwsE 2oL b Safiiug)

(C)  warps @YTUWmer awsCrs.amue Crrad Qo) sscug)
D)  @ulemar 2 ul(sLen G Hés DFleug)

130.  Which of the following 1s incorrect?
(A)  Pollen grain - haploid
\W#” Megaspore - Diploid
(C)  Synergid - Haploid
(D)  Endosperm - Triploid

e1g) seupnar Cegmig.?

(A)  warBs gner - eomleTmii
(B) GwarevCumi - g lemmil
(C)  wsamgl - apmiermil

D) eaarCrreav@umd - gflliermil

131. The ovule in angiosperm is technically equivalent to : gymnosperms.
W Megosporangium
(B) Megosporophyll
(C)  Megaspore mother cell
(D) Mega spore

24,65 Cimen@umLile @& ‘@GE‘JGHUTU_I}TEUTQI
(A)  QuarevCumyepélib

(B) QuwarevCurCGrm. .19

(C) QusrevGumd ST Q&

D) QusrevCum
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132. Hardness of seed coats is due to the presence of
(A) Bast (B) -+ Fibres
W Stone cells (D) Collenchyma

efleng 2 anmudlen siq6vd SETEMDEE) STTERTLD
A)  umev(® (B) mmit Qeed
(C) spHé Qgwger (D) Careenensiom

133. The theory of ‘Quiescent Centre’ was proposed by :
(A) Hanstein . (B) Schmidt

(C) Nageli W Clowes

‘sienod enow’ Carum’_igenear @uwimBlweui

(A)  apmerevCLer (B) evidlg
(C) prCsal (D) @Carman
134. Cells divide in several plane in meristem.
(A) Mass meristem : \ﬂif Plate meristem
(C)  Rib meristem (D) Lateral meristem

2 EGSHeeiln Qawadr LaGsramssle uGLILLSlempen.
(&) Hper AsEHHS B) 5.0 sEsS
(C) Mo wsGsH (D)  vés sGEHG

135. The transition of exarch Xylem in roots to endarch xylem in shoot occurs in
region.

(A)  Epicotyl region

W Hypocotyl region

(C)  Upper root region

(D) Lower stem region

Gauflé e_drer Qauef] Crpirés(@ ensaib Fammi e 2 aTCHTEHE @ewLons LT Cupb UGS
(A) n9CsmenLcv

B) oanCurCsrenL_ed

(C) Cuwe uss Gaurr

D)  &pued gan
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136. The process in which haploid embryo is formed from haploid egg without fertilization is
called

(A) Apogamy
(B)  Apospory

W Agamospory

(D) Adventive polyembryony

aprueTmi’. i@t SSBhE smhaDMoe anrieTmil. &M o (heuTEeams
GTGOILIIT,

(Ad)  =Cun@ad -

(B)  =CumrevCunrf

(C)  =sCumeCuirf

D) @i Geuamgeu urelerip@fwmef

137.  In Embryo Sac, haploid, diploid and triploid conditions are found respectively in
(A) Egg, antipodal, endosperm
(B)  Endosperm, antipodal, egg
\V Antipodal, Zygote, endosperm
(D)  Nucleas, endosperm, egg

amUeUUND wpepwims anrlemmil, g lermil whmib g Alermin euflens sflwns 2 GiTeng,.
A) e, ey Gur @, erarGLmev@uiiid
(B) eraorGLmen G LMD, <,a0mig CUmL_eb, ieRTL_LD
(C) yengCum_e, eneGanl., erarrGLmev@uiiid

(D) By deflwen, eramrCLrav@ b, st

138.  Which of the following pairs in angiosperm are diploid and triploid respectively?
(A)  Microscope mother cell and egg cell
(B)  Egg cell and secondary nucleus
W Secondary nucleus and endosperm
(D)  Endosperms and antipodal cell

et Cgmg. pavpwins 2 erSCwnevQuirapsatle g.lemmin mmb g AarmiL Bleneouldley o_areng?
(A)  ewaCrmevCunt smi Gaem wHmID e Qad

B) e Gsd wpmib Qasear M Hlyfeaflue

(C) GssanM flysafluen wHmid erewtGLmev&lLmD

D) aanCLrev@uid HmID 2 erg Cumsar Qe
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139.

140.

141.

Ubisch bodies are secreted by

\W Tapetum

(B) Endothecium
(C)  Middle layer
(D)  Microscope mother cell

AmHgl W96y 2 L miseT &7&SDng).
(A  Sleb
(B) eaanCrESlwb
©€)  p6 =066

(D)  ewsCrmev smi Cecser

In orthotropus ovule, the micropyle and chalaza are
(A)  Parallel to funiculus

(B) At right angles to funiculus

(C) Oblique to funiculus

W In straight line with funiculus

<=T1Csmg Crmuey @edled enwsGurenid wHmid Qaemmm
A) dyef@goelnss Qenaruns @) me@ELD

B)  Lwelgoabse denEssTs @ meEL0

C) AOyef@oeder gm Carargdled G) @b

D)  Gwelgoelnse CritGar g G ma@d

In adentive embryony, embryo’s develop directly from the
(A) Zygote
(B)  Accessory embryosacs in the Ovule

\W Nucellus or integuments

(D)  Synergids or antipodals

WHM & aueriFSuded ChTig LT &1 2_(Hheurdlng.

(A) esCarl

(B)  @edlen gyanewr s(mLiemL

C)  HluyQedee (21) G ey
(D)  ewamamel (1) g Guim_ed

55
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142, Viruses have

W Nucleic acids + Proteins
(B) Chromosomes + lipids
(C)  Ribosomes + Cytoplasm
(D) Carbohydrates + fats

eUTEVEET Gang BaTarT(HeTeng)

A) Bysels udlen + Lrsd

(B) @CrGwrCembd + QampliLy

(C) MACGurGsmrbd + ensl_GLmIermend

D) smCGureman Gyl + Qlamapiiy

143. An indistinct area with in a bacterial cell where DNA located
(A) Nucleus

W Nucleoid

(C)  Nucleo plasm
(D)  Nuclear pore

urseflwelles DNA eveu spfl Qgefleupm Hlenevufled aremriuBn LEHES
eremm G

(A Blusefluen

(B) Ayseflwmia®

(©) PHuseCur Germen

(D)  Awsaflwen genar

144. Magnesium is needed for
(A)  Cell wall synthesis

\J¥”~ Cofactor for enzymes
(C)  Respiration
(D)  Protein synthesis

WTBISETE @S0 E UweruBEng.

(A) Qs seurt 2 HUGE

(B) Qprdlaenss genen Qunmerns
©) saundlgsa

D) urs=puss
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145. The extra chromosomal DNA is called
W Plasmid (B) Episome
(C)  Nucleus (D) Nucleoid

s Dz GOITCnGamb 4. erer 6 eramLig)
(A)  YGerrevSl_Bsar B) er9Csrd
C) Huseflwey (D)  Busaflumi@

146. A few bacteria lack rigid cell wall and their flexible plasma membrane allows them to
change shape called

(A)  Pseudomorphic
(B) Cocei

W Pleomorphic

(D)  Bacilli

@@ Ho urseflurele o mdurer Qadgseur deaiwirg searme GDeTTEVIOT FEUCITENE HeT
auigeuSMS LOTHN enHEHng 2eundlinE

A) &CLmommis

(B) sréems augeud

(C) QOCwmorm9s

(D)  urfléeven eulg.euLd

147. The transfer of genetic material from one bacteria to another is called
(A) Transformation
(B)  Translation

\_(9!’ Transduction

(D) Transversion

e urseflurelembg LH@ADTEH urseflurellng wiy Qummeer 5;—556“@
A  gyrenevurGoses

B)  goremevCGeaga

(C)  wrremevLSever

(D)  yprenevGleuTaa
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148. Bacteria exhibit movement in response to light is called

(A) Chemotaxis W Phototaxis
(C) Thermotaxis (D) Psychrotaxis

ursleflwmser @Aw gaflenw Crradl pamb paTellhG
(A)  Ceudl eleneray (B) eafl eflenaeray
(C) Qeuliu elenaray - (D) el eflaeney

149. Name the organism that fixes nitrogens symbiotically
(A) Azotobacter
(B)  Azospirillum
(C) Clostridium

@7 Rhizobium

gal_(Quii apenpudled eplrmener HleneiLRGEID urslefwreney gam)
(A) e Gumu rre'm_r'r‘

(B) =Camevenufeveid

(C)  AlerrevigMiguwid

D)  erCsmAuwid

150. A Bacteriophage is a
W virus that is parasitic on a bacterium
(B) bacterium with a lysed membrane
(C) tiny bacterium

(D)  unusually large bacterium

undie CwrCug eremLigy

Q)  eaugay, unseflurelen G 2 drer ei([Hereanl
(B) e bs eumenw m urseflwm

©)  Afw umdewm

(D)  seaysE sidswrer Quilu urgefwr
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151.  Wilt of cotton is caused by

(A) Penicillium notatum

\W Fusarium oxysporum

(C)  Pyricularia oryzae
(D)  Colletotrichum faleattum

UsS Geguliler @ana aure Crmepw o e _r&@n &lmLd
(A) Queffledlwb Apm Gl L 1b

(B)  ysrflwib eyseilevCunyn

©€) eulgCaflurgearer

(D)  CareCLmgenrab LrGs LD

152. The causative organism of Red Rot of Sugarcane
(A)  Pyricularia oryzae
W Colletotrichum falcattum
(C) Fusarium ‘
(D)  Penicillium

&m1Sle Sleuliy Bi(paed Crrenil o eRrL_MéE6eus)

A)  aulgCaflur garsr

B) CaredCGLmgenysd uredCsl L b

(©C) yemflwb
D) Queifalwid

153. Flagella present in the entire surface of bacterial cell is called
(A) Monotrichus
(B)  Atrichous

\V Peritrichous

(D) Lophotrichous

ungleflwrefler 2 Leid (ppeugid smsuilenp srerriiuBeug)
(A) CuCerr _enysev

B) aglegsev

(C) QuilCanpsev

(D) CarCGurienpgsev
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154. Rust of wheat is caused by
(A)  Xanthomonas citri
W Puccinia graminis

(C) Xanthomonas orvzae

(D)  Pyricularia orvzae

Cargenoula @ena HIHEHTL GHUL STreawid
(A) CsrCgrCurentev Sieny
(B) usfallwur ymdleaflev

(C) ConCasrGuwrenmey panyam

D) euflECaflur geayer

155. In pinus, the wings of microspore is developed from

\M Exo-intine (B) Intine and Exo-intine
(C) Exine (D) Exo-intine and Exine
enuaren sneursdler, emwsGrravGurile sraiiu®ib @ng erdadlmba 2 (Heurdmag)
(A)  er&Car-EGleamenLan (B) @QaérenLanm opmyb er&Cam-@)emant et
(C)  er&dler D)  a&Cer-GenenL_eim wHmD cTé&Slen

156. The process of separation of fibres from soft tissues by keeping the fibre yielding plants in
stagnant water is called

(A) Rotting

\y Retting

(C)  Softening
(D) - Drying

Blmgleuren sampliugHulile Qmnbg i Qeapasamer WfLLsDHE, BT derGamn uEdaw Cahdw
By emeudEL Mapelanar Spaemeumn ienp&samD

(A)  gmigni(Sies) (PGS
(B) Qrighi(sidag) ug.uu@glgjg)sb_(aebng) B flgea
(C)  amtlulLaln (@a0g) @am@sad

D) LCeqlnm (Siwag) smlge
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157. An example of photoautotrophs is
| (A) Cyanobacteria

(B) Algae

(C) Green plants

M All the above

&M gafllarme grCear 2_amrey HWLMflLILIENEISSE 2 GTTERTLD
(A) swGanmurseMwir

B) osrsser

(C)  usme greugmiser

(D)  Cuwpsabdu 2emeanssid

158. Flowering in cons day plants is favoured by
(A) Ethylene @f Gibberellin
(C) Cytokinin (D) Auxin

Bawr useD sreurmsaildr USSNIGE FTSHLONE B)(HLLG 6T8)?
(A)  agdlellen . (B) gu@Quilydeder
(C) s’ CLravsaflen | D) <ysedlar

159. How Glycolysis 1s called?

\M EMP pathway

(B) TCA pathway
(C) Hmb pathway
(D)  Carbon-pathway

Aevarsareladen eriainn SiapssiLHEDE?
(&) EMP ayfiapenp
(B) TCA aiflgpanm
() Hmb arfigpenp
D)  sriuer euflpenp
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160. Maizeis a
(A) Czplant (B) Csplant
M Cs plant (D) CAM plant

W&STEEFTATD GTETUS) 6THS STeuTLD
A)  Cz gmeund (B) Cssmeuyw
(©) Cssmaumbd . (D) CAM sreunid

161. Non-cyclic photophosphorylation involves
(A)  Pb-I
(B) Pb-II
W’ PS-IandPS-II
(D)  Fi particle of Mitochondria

swer gafl ursvurfsramgdle riHueus)
(A) Pb-I

(B) Pb-II

(C) PS-Twpmyb PS-II

(D)  ew Cmsraflurser Fi-gsdsafie

162. In plants, the process of taking in carbondioxide and releasing oxygen is termed as
(A) Transpiration
(B)  Respiration
(C) Endosmosis

\@f Photosynthesis

greugmsaild smiLa-oL-JpsmavaL. ThHsgsdaran( sailga AaaflEn Hsbe; eeiaumm
2P&EILHEDG?

A)  Byredll Cunég

(B) seundlsgsa

(C) 2o saugy(® ureue

D)  goliCsrsms
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163. Premature leaf fall is due to deficiency of

W phosphérous (B) nitrogen
(C) iron (D) caleium

Qe wpdliedineE wpararsnsCe Game 6ll(psd g6 uPDTHEEG@DWITED gHuSng
(A)  umesuge (B) epfpLEe
©)  @moy (D) sréfwid

164. Which of the following microl-nutrients 1s required by plants in least quantity?
W Molybdenum (B) Boron
(C) Zinc ; (D) Manganese

ECLp Qar@ssl il [Herar Biaroa L&l SraurmsEnss Nes Gmnbs are) CosmaiuBeug erg?
(A)  wrellligemd (B) CGumgren
(C) sssBIHD (D)  wmmseats

165. Which apparatus is used for root pressure measurement?
(A) Potometer W Manometer

(C) Auxanometer (D) Barometer

Coulr 2i(WH85ms emell LweHD smmedl erg?
(A) Cum GLmblor (B) CurGenmBLLir
©C) yseaCeanmbii (D)  urGumSL i

166. Absent of bap takes place through .
(A) Cambium | (B) Phloem

7~ Xylem (D) Epidermis
gnGrmmbd ergem eudluims penL Aumnidlmg?

(A) Csbllwb (B) SyCGermwid
(C) ewsabd ’ (D)  ywaCsren
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167. Hexokinase belongs to which category

W Transferases

Oxidoreductases

GansCevmanaCanen erhg W fleneu smibgs ?

(A)
©)

Lymenene {6l LIGran e

< &eCLTAL&ECLevev

168. Sucrose enzyme reacts with the substrate

@
(B)

Any disaccharide

Starch and cane sugar

\(9)’ Cane sugar

Milk sugar

&&Grmev Qrrdl erhs Qummatian Qeworpmdng

(A)
(B)
©)
D)

THMEUGI @(h MLETESMT(H
EUL_TTES DMMILD &(HLOL| FTESHEN]T
&(HLDL| FTEHSMT

LMQ) EM&ESHENIT

169. Protein part of the enzyme is often called

)

Holoenzyme

&7 Apoenzyme

(©)
@)

Prosthetic group
Conjugated protein

(B)
(D)

(D)

eremenevLslen s LGS ereuaumm SiempasLiu(REng

(A)

B)
©
(D)

FABTY

CanrGeorr eremenavid
2 Gum eremeneuLd
HCrrev @S 1.5 euena

H@OUIL| YrsLb
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170. Lecithinis a
(A)  Steroid
(B)  Glycolipid
(C) Carbohydrate

G Plicsshalinid

Qevflgdlen eremiig) e(m

@A) eyl

B) saoasCasrallu®
©) srr.Curenam Gy
D)  urevCurellb®

171.  Which of the following is unsaturated fatty acid?
(A)  Acetic acid '
(B)  Palmitic acid
(C)  Stearic acid

\J# Oleic acid

EGp Qsr@asuul Herereausefler Lisdlure o HlgreiuLms Qamipliy Siflen?
A)  flgs bl

(B) umewlys bleb

©)  cvigwié sifed

D) @udlé sfawb

172.  Who is associated with the classification of lipid?
4 Bloor ~ (B) Fischer
(C) Koshland ' (D) Sorenson

AUl Bemer cumsiuT( Qewigded QgL euegiaTT wWiri?

@A)  vest B Gevavi

(C) Camevememnrl (D) Ganyeaen
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173. Net primary productivity is lowest in which ecosystem?
(A) Temperate grassland | (B) Reefs
(C)  Tundra region \@( Open oceans

s Ghlamauia 2 puss Sper Gopars GHEELD?
(A) Qauuu yeoQeuaf (B) fuew
©)  gpdimued D) s dued

174. Vivipary type of seed germination is found in
W Avicennia officianalis

(B) Datura stramonium

(C) Solananum Lycopersicum
(D) Nicotiana tobacum

SpaanL sraugrsaiia eflwrurdl erémp wpenpuiler efleang @mmdqﬂ,ﬂmm Qubmerarg) erg?
A) effaflur sndflermedsn
B) Li®gr ev CrrGwrefluib

(C) GCsanand ema&Csnundlsd

(D) R&Camguwirenr HCUESLD

175. Which gas release greater, while burning coal?
(A) Carbondioxide

\J# Sulphur dioxide
(C) Nitrogen oxides

(D) Methane

Hessflaw aflsen Curg abs eumswirer e idls Siereile) CaalCumpb?
(A) sflwde euryy

(B) seouneL ops&ms

©) eoplogd ysms®

D) BsCger
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176. Temperature forests occur in India in

(A) Indo-gangetic plains

\y Himalayas

(C) Eastern India
(D) Southern peninsula

ALbuCrl euemiuEd @pHwrelle erii@ sramiu@Sng?
A)  @sdwu shnms swdeuef

B) Euwwoee

©)  fypie@pdur

(D) GspE Queafarsen

177. Earth summit of Rio de Janeiro (1992) resulted in
(A) Establishment of IUCN
\J# Convention on Biodiversity
(C) Compilation of Red list
(D) Establishment of Biosphere reserves

19926 MGw . AgpafiGrmefich BL b erird FDLEL Gramm WOMHTL g6 (Pig 6 ETemen?
(A) IUCNg Garmmieflgse

B)  gmeur uaTow wIBETEH

©)  @fluyb Hlevauller o erer sreuy, elemisemer s sl (H B

D)  ydwsrs euend LHMID FreuTrRIGEmeT LTFETES Hlomsmer Caiey Aalioug

178. Animals and plants are best protected in
(A) Sanctuaries
(B) Zoos
\(@” National Park
(D) Botanical gardens

silwm@set LHmID greurhise Ws Anbs panufe LymofssiiuBeug eiE
(A) srewTOWR&SET '

B) Oms sl stenesdr

C) GCsflu ymsr

(D)  sraydiwued CamLmsear
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179. In the food chain saprophytic organisms are
(A) Consumers _ (B) Producers
(C)  Predators \a})’ Decomposers

2 amreyé shidledluder CeliCrmanuigs 2 uMeTRIGET TeUEUTT SHEPSETLD?
(A) o amewflser B) e pusdwumert
(C) 9AGLL LD (D) Aesliueurser

180. Energy flow in an ecosystem is
(A)  Multi direction
¥ Unidirectional
(C)  Bidirectional
(D) No direction

@(p &HmILUD GpHlenauiier ppmeler euafllium® ereueumm srerTiiLIHID?
A) uvaCeaum Hamssafled

B)  §oAwa9b (i

©) @mdmssaigbd

(D)  aps Hamsulgyd Sent_wing

181. The improvement of the life of the existing human beings is called as

W Euthenics

(B) Eugenics
(C) Pedigree analysis
(D) Selective mating

snCuregw wallsaflar curpsamsamw (perGarmmieugsnaer G
Q)  woseaflsen

B) wlgefisen

(C)  urbueny SYwey

(D) Gsiey yewri&é
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182.

183.

184.

Which of the following disease caused by the use of water contaminated by nitrate?

A

N8
©)
D)

Fluorosis
Blue baby syndrome
Minamata disease

Itai Itai disease

gamren fled bl Gyl 2iemey siflafliiugen apab erener CHTL eHURHD?

(A)
(B)
(©)
D)

yGenmiledlen
B Gpens Heawr Cymb
WlermGolLm Grmil

@rLr@lLr Crmi

Biomass could be utilised through which of the following methods

(A)
(B)
(©)

Fossilization
Soil pollution control

Water pollution control

W Thermo chemical transformation

uGuwimome Spsersupmier aThg (perpuller LwetUHSSLLGEDS

(A)
(B)
(©)
(D)

Ui SLOMGSeD
Flowgdlen wraeneu s (OB S50
Ffler wraeneu s_HUUGRSZIUG

@grCur Qs &Es6 g yrevunTGger

Which of the following is not a green house gas?

(A)
(B)
(©)

v

CHs

Water Vapour
COzq

Os

S EHSTL_6UDDIET GTHI LIFENLDE @HPE GUTL| D60

A)
®)
©
D)

CHs

Water Vapour
CO:

(O}
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185. The smooth endoplasmic reticulum of liver plays a role in
(A)  Glycogenolysis
(B)  Lipid synthesis

W Detoxification

(D) Oxidation

aealredled 2 eer cuipeupLiLTan arawGLT NeTTs eueveuden Lkis
(A)  SeearsCan gCarmencdlev
B) O 2 puss
(C) pésgagse
D) bAgCeppi

186. A chromosome with centromere at one end is called

\W¥” Telocentric

(B) Metacentric
(C) Excentric
(D) Apocentric

@@ @rsdo deen_CrmAweny Qubdm @&CyrCumGemer Quwr
(A)  eCanGgem M

(B) QulLrQsem MNs

(C) esevQaan_Ms

D)  uCunGeer Ms

187. Communication between two plant cells takes place through

(A) Pores
(B)  dJunctions
(C) Torus

\J>»” Plasmodesmata

Qren® sreuy QewsEnsE Gl Cw s Qupb Qgmii eager apald perL Qundps

(A)  giemersar
B)  spHiyser
(C) Gumyev

D) QemevCurQ@LevCuiLr
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188.

189.

190.

The substance which inhibit the growth of ingested organisms in lysozomes is

(A) Residual bodies

\W Lactoferrin

(C) Granuloma

(D)  Lectin

amaGsrGsmbseme o araflssiiu L 2 Wiflamsaflan ciariéfleow 5H&@GWD QurmaTr
(A) B emser

(B) arsGLmGufler

C) SyrgyCamom

(D) Qedéige

The process of ingestion of solid substance by the cell is known as

(A) Pinocytosis

W Phagocytosis

(C)  Micro pinocytosis
(D)  Exocytosis

Qs> FLuQummener 2 areuri@d Hlapeln@ eremer Guw?
A)  GCanmensGLréle

(B) CuCsmransCGLréld

(©) mer GCammensGLrélav

(D) Qeuatl ensCLrélev

A single RNA molecule that is not covered by protein capsid is called
(A) Mycoplasma (B) Virus

(C)  Prions W@ Viroids

LTS 2-epDWITed ApLLILIL TS DERM 2} 666 Ape&Ssam GDILLG
(A)  wsCsmYermeviom (B) emeuyev

(C) dflwrenser (D) eauymri@pser
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191. What was the most significant trend in the evolution of modern man (Homo sapiens)?
\&?”” Increasing brain capacity
(B)  Upright posture
(C)  Shortening of jaws
(D)  Binocular vision
g;aﬁ’m weflgaflen (CanmGuor Gelbwerev) uflawmwd Bls wasdwwrs abs @GHLGCL Hosude
uflewrmon Gumlpg
&) sfsféEn epmar Hpan
(B)  fllrps Slener Csrmmid
©C)  Gnedamn srenL

D)  gwewr Pl LimTaNGU

192. The evolution of a species is based upon sum total of adaptive changes preserved by

(A) Natural selection

W Isolation

(C) Speciation

(D) Human conservation

et 3jgliuenude) sseuanioli wrHnsHer Qwrss eramarfismayn UTgETESUULH @@ Spdlend
uflewrmob e Sng

(A) Qupea Caiay

(B)  sailow uBssi50

©)  Apdler Csrenped

D) weals ungsTiy
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193. Which geological period is the age of earth did terrestrial life was well established?
(A) Pleistocene period
(B)  Jurassic period

\M Carboniferous period

(D) Cretaceous

aps yellwenwly srasdla willufo Hla eumpsams pag avgsmiss @ mHssl
(A) YGenerevCLr&ern smeud

(B) m9ymdlé smeuid

(C) smGureafl..Quysv sred

D) AHrC e

194. Sympatric speciation develops reproductive isolation without

W Geographic barrier

(B) Barrier to mating .
(C) Barriers to gene flow

(D)  Genetic change

Abum_Ma Hphler Camenped ergar o GardLmss saflepuliend 2 maum@Ld
@) ey OO

B) @asGsrsans sHLUL

©) wrugy el sbuy

(D)  wruew wIHMD
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195. Angiosperm originated during
(A) Upper cretaceous

(B) Lower Jurassic

W Mid cretaceous

(D) Carboniferoces

< EAGLNEALITD Caramilu STatb
(A) Cue HCr_CLfuwen

(B) &) gOmds

C) G ACH CLilwen

D) smBurafl. Quyev

196. The smallest unit of DNA that codes for one polypeptide chain is

W Cistron

(B) Muton
(C) Recon
(D) Exon

@ urelQuiieL () shdladlenw 2 HeunsEo DNA efler Adlw sjedlhE Auwr
(A) Slevl_gmer

(B)  Ouymer

(C) Qr&sren

(D) er&smenm
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197. The portions of chromosomes that stain lightly and only partially condensed is

(A) Hetero chromatin

W Euchromatin

(C) Facultative chromatin

(D) Constitutive chromatin

@®neurar ST wHMID @ UGS smmduyb sraruu@n &CrrCurCemben U@Q Quuwi
(A) Qe iy Crr@Crmom’ e

(B)  wECrmom_gen

(©C) umssGLigeu GCrmom_ig e

D)  smemevLigiqupigeu @3Ermomiiger

198. The method by which mutant genes become established in populations or eliminated from

them is

W Gene flow

(B) Gene frequency

(C) Gene block

(D)  Genetic drift

B8 wrHpweL Hs Bensar g 2 wiflar Agrasuia flawsdmlugb Sbeg F&EsUURSDEL e
Quuwir

(A) mgu@ @LLD

(B)  wruegy Berflsipey

(C) wruey s

D)  wrugy Fyss®
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199. Consider the following statements
Assertion [A] Genetic code is universal
Reason [R] 7 Genetic code is same for all organism
\9)’ Both [A] and [R] are true and [R] is the correct explanation of [A]
(B) Both [A] and [R] are true and [R] is n;Jt the correct explanation of [A]

(C) [A]is true but [R] is false

D) [A] is false but [R] is true

Spangyb eursduiismen seuaf

sapm [A] ; wr9we GHluiH Qurgeuraraneu

sryewro [R] 3 Siwansg e ulflarms@séEn wrdue GHuH eatp

A) [A] vpgw [R] @ramBCGw &M, Gugib [R] erarug [A] epasrer sflwrar eferssid

B)  [A] wppid [R] @remGGu of gyanma [R] crerug [A] efipsran sflwmen eflarésid sicda
(€  [A] &fl gyemme [R] seupy

D) [A] seuy speme [R] &
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200. Consider the following Pairs

L Incomplete dominance - 1:2:1
IL. Duplicate factor - 13:2:1
III.  Lethal factor , - 2:1
Which of the pairs given above is / are correct?

(A) IandIl
# landIO
(©) Ionly
(D) IIonly

Wemeumib Gamemamer shsHe Cardrs
1. Weowdupr ghigueary - 1:2:1
1L p& smyexfl - 13:2:1

III.  wyesr smyesfl - 2:1

CopeiudlL Gamaraaiic arg #il?
@) 1wpgsIl

B) I wpmw III

© I wi@o

D) 1 wi®id
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